Lecture 2

Exercise 1: Assuming a zero-length loop and CO current-
limiting resistors of 400 ochms and phone resistance of 200
ohms, what is the loop current? What are the voltages rela-
tive to ground assuming the CO resistance is splitinto two 200
ohm resistors?
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Exercise 2: If the battery voltage is 48V and the loop current
is 48 uA, what is the loop resistance? Is the phone on-hook or
off-hook? What if the loop current is 48 mA?
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Exercise 3: Assume the CO and telephone in the above ex-
ample are now operating over a 15kft (about 5km) 24-gauge
loop. What is the loop current?
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Exercise 4. What is the maximum number of DTMF digits that
could be sent in the time it takes to dial a '5" and wait until the
start of the next digit?
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Exercise 5: What is the amplitude of a -6 dBm tone?
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